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Shqpwt ULS thnnng
I | Mwwnyjwodp
1 |Pnuwihtu unpngnd hhdpnd
N fuSwjhtu hhdp h=12ud U 300 1,80 538,8
phuinnuwih nwpwdnud 4.12u1/10000° nnl 1,24 379,41 469,0
p |Swp dwynnybu fungnpwhwwinhl w/p h=6ud U 300 7,66 2299,2
2 |[Kwppbgunn 2tpun twp dwupwhwwnhly w/pbinnt hdhg=3ud nnu 51 45,71 2331,0
3 [Swp dwupwhwwhy w/pbnnt h=4ud ,,F”wnhwy u2 2304 4,42 10180,7
1. Cunwdbkup| 15818,6
Il [Unnuwl
1 Ynnuwlubph dwppnud pniuwlwt 2Gpinhg wywnngpbijnbpny u2 550 0,02 10,4
2 [Ynnuwlyubph wdpwgnud wjwquynwhény h=5ud 02 550 0,45 249,1
2. Lunwdbkup 259.,5
Il |howwnbin
1 [ 33rgpniunp dowynid Epuywywnnpny (0,6543), pwpénid 93 32.4 0,74 24,1
wuwnnhuptwrewihbn
2 |wnbnwihnfund (guynywn dhusl 3,0 Yd nnu 63,2 0,343 21,7
3 |UJwquynwbwiht 2Gpwn h=10ud a3 10,8 5,33 57,5
4 [hubwyhu hhdp h=15ud u2 108 2,079 2245
5 |phunwh nwpwdnud 4.12u1/10000 wnu 0,44 379,41 168,8
6 [Uwupwhwwnhy w/ptitnnt ,,A”nhw h=5ud u2 173,0 5,452 943,3
3. Cunwdbkup| 1439,9
IV |UGnmwnwljwt junnpnul d=53044; Y 0+01
1 [l 33rgpniuwnh dpwynid Epuljwydwinnpny (0,6543), pwpénid 93 6 0.94 56
wuwnhtptwrewihbn
2 |[wbnwihnfunid |gwynywn dhusl 3,0 Yd nnu 10,8 0,343 3,7
3 111 33r gpniuwnh dowynd Epuywywwinnpny (0,6543), ntinnwd 93 3 0,51 41
Uninwbinuind
4 (UJwquynwbwjht 2tipwn funnnjwyh tnwly h=10ud u3 0,86 6,16 53
Ubwnwnwlwu d=530dd funnnjwlyh nbnunpnw 1g6.U=90.3Yq;
5 [5=7dd qd.d 1 90,28 993,1
6 |2phnph dhwany| piinu B15 N 1,62 77,61 125,7
7 2phnph  9pwdbynwwgnid Giplgtipn nmwp phnnudny £ 11,2 1.34 15.0
8 |funnnjwyh opwdbyniuwgnid bplyotipin tnwp phuinndng u2 18,37 1,97 36,3
9 |<bGwnwnwpé |hgp pninngtipny u3 6 0,09 0,6
10 |[Unyup dbinpny u2 2 1,62 3,2
Snjne)niu nwutignn uwitiph pwunnwd wbnwitnfunud (guynyun
11 1dpugl 3,0 Y u3 2 19,48 39,0
4. Cunwdbkup| 1231,6
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V  |dwplp
1 |9ninusinit niutignn Jwpbiph dwppnud dtinpny d3 15 3,23 48,4
2 |pwpénwd bnpny,inbnwihniunid [quynywn dhusle 3,0 yd wnnu 29,3 0,78 22,7
5. Cunwdkup 71,1
Cunhwunipp Shqpwt ULS thnnng (hwq.npwd)| 18820,7
Uunpwuhlyh thnnng
| |<nnujht wuwwnwupubp
1 Vp13 gpniunh dowynwd Epulwywwnnpny (0,6543), pwpénud 93 956.9 0.94 898.6
wuwnnhuptwewihbn
2 |nbnwihnfunwd (guynywn dhusl 3,0 Yd nnu 1722,4 0,343 591,1
3 | 33r Il gpnwuwnp dywynwd Epuljwywinnpny (0,6543), pwpénd u3 510 0,74 379,3
4 [wbnwthnfunw |gwynyw dhusk 3,0 Yu nnu 994,5 0,344 341,8
3 |<nnwjhtu ywuwmwnh hwdwhwpebgnw pnynngbipny u2 6770 0,02 127,9
1. Cunwdbkup| 2338,7
Il [Nuwnywuép
1 |UJwquynwbwiht 26pwn h=10ud u3 677,0 5,33 3607,2
2 |hutwyhu hhdp h=15ud u2 5108 2,079 10619,1
3 |phiinwh nwpwdnud 4.12u/10000 nnl 21,04 379,41 7984,8
4 [Uwupwhwuwnhy w/ptinnt ,A”nhwy h=5ud u2 5108 5,452 27850,8
2. Cunwdbkup( 50061,9
I JUnnuwy
1 [Ynnuwyubiph dwppnud pniuwwu 2tipinhg wywnngntijnbpny a2 1662 0,02 31,4
2 [Swdwpnipnwiht  gpniuwnp (11164) pwpénd wywhniuwnnid g3 249,3 0,69 171,3
o [t o TR T |y | s [oamoor| 03
4 Ynnuwlubph lunwgnud wuldnginnuny 1 htwnpny 4 wugnuwiny g 249,3 0,69 171,3
5 [Ynnuwyubiph wdpwgnud wjwquynwhény h=5ud 02 1662 0,45 752,9
3. Cunwdkup| 1265,5
IV [howuwntn
1 [ ' 33rgpniunh dawlynud Epulwyuwnnpny (0,65d3), pwnpanud J3 89,5 0,74 66.6
2 IL:;jllr{]wn:HIr]anIr;it?lllg;:L;LJm dhusle 3,0 Yu nnu 174,5 0,343 59,9
3 |UJwquynwbwiht 2tpwn h=10ud u3 29,8 5,33 158,9
4 [hubwyhu hpdp h=15ud u2 298,3 2,079 620,1
5 [phunnuwih nwpwdnud 4.121/10004° nnu 1,23 379,41 466,3
6 |Uwupwhwwhy w/pbnnt ,P"nhwy h=5ud u2 298,3 5,452 1626,4
4. Cunwdbkup| 2998,3
V |howwnbn
1 [Snynipyniu ntubignn Jupbiph dwppnud dtinpny u3 30 3,23 96,8
2 |[pwpénu dbinpny,inbnwihnfunwd [guynywnn dhusle 3,0 Yd nnu 58,5 0,78 45,4
5. Cunwdkup 142,1
VI (Upgbuthwuyngubp
1 JUbunwnwlwu wpgbjwhwyngubip dbnmwnwywu untubpny qd.d 100 25,33 2533,1
6. Cunwdbkup| 25331
Cunhwunipp Wunpwuhply hnnng(hwq.npwd)( 59339,6
Cunhwunipp (hwq.npwd)| 78160,3
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